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5a) one of the big advantages for growing hemp crop to compared to cotton crops is
that is uses no where near as much water as cotton. This can impact the social parts
of the enviournment like people. Not needing to use as much water is not only good

for the enviournment but can also be invested or used in a much more efficeint way.

Hemp doenst need all the fertilisers and pestersides that cotton does. This can have
a very negative impact on the enviournment because if it rain the pestisides and
fertilisers can leak into the soil, killing it and eventually leaking into local rivers and
streams, where in poorer countries people might bathe or wash their clothes in this

water but this can negativley imapct their lives as they are washing themsevles and





their clothes in theses harmful chemicals.

Hemp doenst take up nearly as much land.as cotton does. Hemp can be planted and
then grows freely, it doesnt need much maintance. This can have an impact on
vegitation as the land used that has cotton crops growing could've been used to
build nore housing or for people to grow their own crops. with the fertilizers and
pestised being embedded into the soil this can kill the soil making it unable to plant,

fresh organic crops or produce.

Workers such as farmers have a dangerous job and being a crop farmer can
negativley imapct their lives as they are having to deal with chemicals, dyes and

toxic substances,

b) Hemp is suitable for summer clothing because of the natural fibres and properties
it has it interacts well with humans, It is breathab!g,-which is ideal for summer as the
weather is hot. It is easy care which keeps the optimum apperance not matter how
much washing is needed to be done for it, it has great flexiblity so feeling free and
easy to move around i, not feeling restricted. it behaves well when being exposed to

sunlight.
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Question 5
Hemp is a sustainable fibre with similar qualities and properties to cotton.

@) Outline the environmental advantages of growing hemp crops compared to cotton crops.
(b) Explain why hemp is a suitable fibre for use in summer clothing.
5 @ AO3 AO4
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Candidates should demonstrate knowledge and understanding of technical principles and
awarded up to 5 marks.

No response or an inappropriate response — 0 marks

Responses should be based on:

e Hemp crops replenish the soil with nutrients from falling leaves unlike cotton crops [1]. Hemp
roots absorb and dissipate rain and runoff, helping to prevent soil erosion [1].

e Cotton requires huge volumes of water to grow which is often diverted away from natural
water sources such as rivers leaving them dry thereby creating soil erosion [1].

e Hemp can grow in any climate so the issues of water to grow are not a problem [1] whereas
cotton is restricted to hotter climates often where water is already a scarce commodity [1].
Hemp only needs a third of the amount of water to grow the same quantity as a cotton
crop [1].

e Hemp requires little fertiliser and grows well almost anywhere [1] it also resists pests [1]
whereas industrial size scale crops of cotton require fertilsers and pesticides to increase
yields [1].

e Hemp is unique among other crops in that every part of the plant has utility and potential
market value [1] whereas it’s the fibre from the cotton boll is the valuable commodity for
cotton [1].

Credit other appropriate responses.

(b) 5 5

Candidates should demonstrate knowledge and understanding of technical principles and
awarded up to 5 marks.

No response or an inappropriate response — 0 marks

Responses should be based on:

e Hemp is absorbent and conducts heat away from the body [1] therefore it is naturally
breathable, ideal in warm summer weather [1]. Hemp has excellent thermo-regulating
properties, ideal for keeping cool in warm weather or warm in cool weather [1].

e Hemp is non-static as it contains some moisture meaning it will not cling to the body during
wear [1]. Hemp is crease resistant requiring less ironing [1].

e |tis anti-bacterial and is resistant to mold [1] meaning its appearance will not be affected if
exposed to moisture and not allowed to dry properly [1] as bacteria and mold cannot grow
on it [1].

o |tis effective at blocking out UV rays [1] lessening the risk of sun burn [1].

e |t resists degradation by heat and is less prone to fading [1] therefore keeps its colour
despite exposure to the sun [1].

Credit other appropriate responses.














Sticky Note

Q5a = 1 Mark (Max Mark 5)
Credit was given to the statement relating to hemp’s ability to grow anywhere.



Sticky Note

Q5b = 2 Marks (Max Mark 5)
Detailed understanding of the wider properties related to hemp are not known.  Some, albeit limited credit is given to knowledge of basic properties that could also relate to other cellulosic fibres.










5a) one of the big advantages for growing hemp crop to compared to cotton crops is
that is uses no where near as much water as cotton. This can impact the social parts
of the enviournment like people. Not needing to use as much water is not only good

for the enviournment but can also be invested or used in a much more efficeint way.

Hemp doenst need all the fertilisers and pestersides that cotton does. This can have
a very negative impact on the enviournment because if it rain the pestisides and
fertilisers can leak into the soil, killing it and eventually leaking into local rivers and
streams, where in poorer countries people might bathe or wash their clothes in this

water but this can negativley imapct their lives as they are washing themsevles and





their clothes in theses harmful chemicals.

Hemp doenst take up nearly as much land.as cotton does. Hemp can be planted and
then grows freely, it doesnt need much maintance. This can have an impact on
vegitation as the land used that has cotton crops growing could've been used to
build nore housing or for people to grow their own crops. with the fertilizers and
pestised being embedded into the soil this can kill the soil making it unable to plant,

fresh organic crops or produce.

Workers such as farmers have a dangerous job and being a crop farmer can
negativley imapct their lives as they are having to deal with chemicals, dyes and

toxic substances,

b) Hemp is suitable for summer clothing because of the natural fibres and properties
it has it interacts well with humans, It is breathab!g,-which is ideal for summer as the
weather is hot. It is easy care which keeps the optimum apperance not matter how
much washing is needed to be done for it, it has great flexiblity so feeling free and
easy to move around i, not feeling restricted. it behaves well when being exposed to

sunlight.



Sticky Note

Q5a = 4 Marks (Max Mark 5)
The response contains a few valid points but focuses more on the disadvantages of growing cotton rather than the environmental advantages of growing hemp.  Full marks cannot therefore be awarded.



Sticky Note

Q5b = 2 Marks (Max Mark 5)
Some understanding but points could relate to other cellulosic fibres.  Detailed understanding of hemp's properties appear limited.
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Sticky Note

Q5a = 5 Marks (Max Mark 5)
A detailed response that balances the advantages of growing hemp against the disadvantages of growing cotton.  Detailed understanding is evident.








Sticky Note

Q5b = 5 Marks (Max Mark 5)
Although the response does outline properties that could apply to other cellulosic fibres the level of detail is sufficient to warrant full marks.  Specific additional properties that belong to hemp however are not evident in this response.










5. Hemp is a sustainable fibre with similar qualities and properties to cotton.

(@) Outline the environmental advantages of growing hemp crops compared to cotton
crops. [5]

(b) Explain why hemp is a suitable fibre for use in summer clothing. [5]










6) Morphological help problem solving when designing new products. It is when you
taken the garment apart and put it back together by morphing the parts of the

garments together. This means it has come from an existing garment and is trying to





generate innovating to become a new fashionable garment.

This can be suitable for a rain coat as new materials and technology can be used to
create an innovative design. this is strategic as it can help when entering a

competitive market as you want your product to be different from the rest.

technology push and consumer pull can help generate needed ideas and

appointnets for products.

there are 6 stages of problem solving

inervasion, dissasembling, brainstorming, problem solving, laterial thinking,

analoygy and morphological.

these help designers take apart their products and think outside of the box for the

best suited materials and alternative ways to create something new.
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Question 6

Morphological analysis is a design strategy used in the development of new products.
Describe the principles of morphological analysis and explain how it could be used to
develop a new fashionable raincoat.

)
Q6 S E AO3 AO4 3
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5 5

Candidates should demonstrate understanding of design and make principles and awarded
up to 5 marks.

No response or an inappropriate response — 0 marks

Responses should be based on:

Cre

Morphological analysis is about exploring all possible solutions to a complex problem [1]
and can be used when exploring new and different ideas for a new product such as a
raincoat — style details for example [1].

Morphological Analysis provides a structured inventory of possible solutions [1].
Designers can split problems into partial problems [1] and looking at possible options for
each part of the problem [1]. In this way, all aspects of a problem are thoroughly
investigated [1].

Morphological Analysis is a relatively simple technique that produces good, useful
results that helps designers with one for example looking into fabric technology [1],
someone else focusing on improving functionality through styling [1].

Morphological analysis could be used to track the stages of development of the raincoat
over a period of time [1] — what problems were overcome and how? [1]

As the raincoat evolves it is assumed each version will be an improvement on the

last [1] — function is better, styling is improved, better quality fabrics — in what way and
how have improvements been achieved? [1]

Developments in technology may be factored in [1]

Designers can study the success or failure of a product [1] — look at which version
performed the best and why [1].

Information gathered can be used to inform the next version or a totally new concept
product [1].

dit any other appropriate response.











6) Morphological help problem solving when designing new products. It is when you
taken the garment apart and put it back together by morphing the parts of the

garments together. This means it has come from an existing garment and is trying to





generate innovating to become a new fashionable garment.

This can be suitable for a rain coat as new materials and technology can be used to
create an innovative design. this is strategic as it can help when entering a

competitive market as you want your product to be different from the rest.

technology push and consumer pull can help generate needed ideas and

appointnets for products.

there are 6 stages of problem solving

inervasion, dissasembling, brainstorming, problem solving, laterial thinking,

analoygy and morphological.

these help designers take apart their products and think outside of the box for the

best suited materials and alternative ways to create something new.



Sticky Note

Q6 = 1 Mark (Max Mark 5)
Specific details relating to morphological analysis are not known.  Some credit was given to reference to product analysis which could in theory form part of process.
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Sticky Note

Q6 = 3 Marks (Max Mark 5)
The response relates more to product analysis in more general terms rather than the specifics of morphological analysis.  Credit was given for this.  Detailed knowledge of morphological analysis is not evident.
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Sticky Note

Q6 = 5 Marks (Max Mark 5)
A good explanation of what morphological analysis is and how it supports development of new products.










6. Morphological analysis is a design strategy used in the development of new products.

Describe the principles of morphological analysis and explain how it could be used to develop
a new fashionable raincoat. [5]
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Question 7

As a consequence of the recent pandemic many leading fashion designers showcased their
Spring 2021 collections as Virtual Reality (VR) shows. Many believe VR is the way forward
for fashion.

(@)

Leanne Elliott Young, co-founder of the London based agency, Institute of Digital
Fashion, was quoted as saying “There are a lot of similarities between a digital
atelier and a couture one. We replicate seams and cuts so the clothes move in tune
with the body, as materials would IRL (In Real Life).’

With reference to the quote above, evaluate the use of virtual reality over real life
when launching a new fashion collection.

(b) Analyse the benefits for people and the environment of launching a new collection
through virtual reality.
(]
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Candidates should show knowledge and understanding, clear evidence of appraisal and/or
making judgements and apply this to technical principles to be awarded up to 6 marks.

Responses should be based on:

A digital atelier would work via a screen and the final designs may never be fully
realised. A couture atelier will design then make the actual garments to fit on a model.
A digital atelier can only fit a virtual garment to an avatar in the virtual world and can
only assume how it would work and look on a person in reality, it might not; whereas a
couture atelier gets an immediate response on how the garment looks and works on a
person.

Problems with an actual design can be identified and solved when working in real time,
cannot do this in the virtual world. Anything is possible in VR but may not work in reality.
Buying a fashion collection from a VR fashion show could lead to problems later if the
designs cannot be realised exactly as they first appear in VR or don’t quite match
expectations in reality.

Both virtual and actual ateliers are highly skilled in their craft but the virtual designer will
need months of training on specialist software in order to create the intricacies of
couture clothing on screen that imitate reality. Although difficult, couture ateliers are able
to create actual intricate details, relatively speaking, more easily.

It is not a budget option to showcase a collection in VR — spectacular effects to
showcase a collection involve multiple agencies; it can take days just to render a
couture look on an avatar, using a suite of software tools.

To replicate how fabrics drape and react and move on a body in VR takes hours of
painstaking study to get the look right; a digital atelier has to analyse the fabric weight
and drape against the flesh; a couture actually handles and uses the fabric to achieve
the desired look — this is by comparison easier.

The VR atelier can make digital changes more easily compared to having to make a
new product in reality — changes such as different colourways. Changing style details on
VR designs is not necessarily easier, it depends on the detail and intricacies involved.

Note: unqualified assertions do not gain credit.

Credit any other appropriate response.






Band Marks AO3 2b Marks AO4 1c

Good evaluation of VR over Applies a sound knowledge
real life. A sound discussion and understanding of technical
which appraises and/or principles relating to the use of
makes judgements about the VR and real life to promote a
use of VR compared to real 2 new collection.

2 3-4 life. Generally well-
considered, relevant issues
used as a context for the
discussion.
There is a line of reasoning which is generally coherent, mainly relevant
and with some evidence and structure.
Limited evaluation of VR over Applies a basic knowledge
real life. Little evidence of and understanding of technical
appraising or making 1 principles relating to the use of

1 1-2 judgements about the use of VR and real life to promote a
VR compared to real life. new collection.
There is limited evidence of relevant examples or structure.

0 No response or work that is worthy of a mark.
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Candidates should provide evidence of either deconstructing information, find connections

and

/or logical chains of reasoning and apply it appropriately to design and make principles

to be awarded up to 6 marks.

Responses should be based on:

Cre

A virtual collection does not use actual materials — a saving on use of raw materials,
less impact on the environment; materials will not have to be disposed of at some point
in the future as none are used.

Carbon footprint is reduced in many ways: no materials are used — less manufacturing;
no transportation of goods globally limits impact; limited personnel involved in
developing the collection as everyone can work remotely - reduces travel.

Everyone can have a front row seat at the fashion show which is beneficial to people
who view it remotely, no-one attends an actual show saving on transport costs to the
show and reduces their individual carbon footprint.

There are no limits to designers creativity and imagination using VR; this can be seen
as advantageous to people.

The setting of the show can be anywhere in the world without actually going to the
locations; special effects can be included giving viewers a better experience overall.
Viewers do not get to experience the emotional and storytelling impact of IRL, they don’t
experience the actual products, no tactile examination of collections; this is seen by
many as a critical downside to VR.

Digital ateliers can work with key personnel from around the world whom they might not
have had an opprtunity to work with IRL.

VR has brought the launch of a new collection into the technological age and
revolutionised and enhanced the experience. This is the main reason many see VR as a
way forward and a viable alternative.

Whilst VR reaches more people via social media it increases the potential for copyright
infringement of ideas.

Digitisation is less wasteful allowing fashion to be more eco-friendly and it is more
inclusive.

dit any other appropriate response.






Band Marks AO3 2a Marks AO4 2¢c

Good analysis of Applies a sound knowledge

environmental benefits of VR and understanding of design

A sound discussion, which and make principles in the

deconstructs information and context of the environmental

provides adequate 2 benefits of using VR to launch
2 3-4 connections and reasoning. a new collection.

Generally well-considered
and relevant factors used as
a context for the discussion.

There is a line of reasoning which is generally coherent, mainly relevant
and with some evidence and structure.

Limited analysis of the Applies a basic knowledge
benefits of VR. Little and understanding of design
evidence of deconstructing 1 and make principles in the

1 1-2 information and limited context the environmental
connections are made. Few benefits of using VR to launch
factors are identified. a new collection.

There is limited evidence of relevant examples or structure.

0 No response or work that is worthy of a mark.
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Sticky Note

Q7a = 3 Marks (Max Mark 6)
This question is about the work of a couture atelier and that of a digital one – the similarities and differences in their work.  This is not entirely understood.  It is not about the environment which is tested in (b).  It is not about using CAD to develop designs in more general terms as the work of a digital atelier is at the most sophisticated and intricate end of the design spectrum as is the work of a couture atelier.  This has not been addressed in this response.  There is no evidence of appraisal in this AO3 style question.



Sticky Note

Q7b = 1 Mark (Max Mark 6)
This part question is still about the work of couturiers at the high end of fashion.  This fact has been overlooked, consequently the question has not been answered.  There is no evidence of analysis in this AO3 style question.
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Sticky Note

Q7a = 3 Marks (Max Mark 6)
This is a superficial response that does not address the real issues associated with the question.  The question is about the complexity and skillset required to physically produce Haute Couture garments – fashion at its most intricate, elaborate and detailed (reference to ateliers) when compared to the work of digital ateliers who are also highly skilled if they are to replicate the work of traditional ateliers.  It could take years to train as a digital atelier.  Clearly, the candidate has not understood this.  There is no evidence of appraisal in this AO3 style question.
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Sticky Note

Q7b = 5 Marks (Max Mark 6)
A good response that demonstrates a better understanding of the question.  Environmental issues have been considered – no materials are used in VR, less energy, no transportation and it could be viewed from anywhere.  There is sound knowledge and understanding but less evidence of evaluation in this AO3 style question.
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Sticky Note

Q7a = 6 Marks (Max Mark 6)
There is reasonable understanding about the work of a couture atelier and that of a digital one – the similarities and differences in their work.  Several valid points have been put forward and there is evidence of appraisal in this AO3 style question.  The response goes off the main focus of the question in the middle - loss of jobs / skills etc. but overall, a good response.








Sticky Note

7b = 6 Marks (Max Mark 6)
A good response that addresses several key points and includes some evidence of reasoning in this AO3 style question.  The entire focus of the response is on environmental benefits of VR over real life.










7. As a consequence of the recent pandemic, many leading fashion designers showcased their
Spring 2021 collections as virtual reality (VR) shows. Many believe VR is the way forward for

fashion.

(@) Leanne Elliott-Young, co-founder of the London based agency, Institute of Digital
Fashion, was quoted as saying ‘There are a lot of similarities between a digital atelier
and a couture one. We replicate seams and cuts so the clothes move in tune with the
body, as materials would IRL (In Real Life).’

With reference to the quote above, evaluate the use of virtual reality over real life when
launching a new fashion collection. [6]

(b) Analyse the benefits for people and the environment of launching a new collection
through virtual reality. [6]
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Question 8

The success of a new product depends on the careful selection of appropriate fabrics.

Analyse how fabric type and scale of manufacture influence the choices a designer makes when
selecting fabrics for a new product.

()

Qs8 S| AO3 AO4 =
Q| ® o
é—; > 2a | 2b | 1b | 1c | 2a | 2b | 2cC =
v 6 3 9

Candidates should provide evidence of either deconstructing information, find connections
and/or logical chains of reasoning and apply it appropriately to design and make principles to be

awarded up to 9 marks.

Responses should be based on the following points:

Fabric type

The two main construction types are knitted or woven. The type of construction affects a
fabric’s stability: a loosely woven fabric is less stable than a tightly woven one; knitted fabrics
stretch but can recover but can also loose shape eventually. Woven fabric is more stable
than knitted though and generally easier to work with.

Non-woven fabrics are not strong but may be selected for specific products such as
disposable items which could be, mass or batch produced. Not high quality.

Woven fabrics are generally not as warm as knitted fabric which can trap air within the loop
construction; the same cannot be said for woven fabric in general.

The source of fibre will influence fabric type; each fibre having different properties so these
need to be considered depending on the purpose of the product.

Applied finishes alter a fabric’s inherent properties but give other qualities instead. Finishes
could be for aesthetics, functionality or to enhance fabric life.

Fabric selection is also governed by the cost of the intended product and scale of
production.

Scale of manufacture

Depending on the scale of manufacture, fashion and textile products will have vastly
different characteristics.

Bespoke or one-off products are hand made by highly skilled operatives, greater care is
taken during manufacture because of the detail required within each product.

Customers have an expectation that high quality and expensive fabrics and trims would be
used — cost not an issue on this one-off scale. This influences choice.

Ready to wear/designer collections — limited numbers but still moderately expensive but
quite luxurious fabrics and trims might still be considered. A designer label carries certain
expectations which must be met.

Mass produced, batch produced — choice of fabric depends on the product and the specifc
target market for the product. Fast fashion is often cheaper, lower quality fabric as the
product has a limited life cycle/planned obsolesence.

Some classic mass produced products need to last long term. Good quality fabric is
important at a reasonable price.

Note: Mass and batch produced products are not necessarily poor quality or made using inferior
fabric and components. Each point put forward, based on indicative content, must be fully
elaborated on to explain its relevance.

To be awarded marks in the top band, both parts of this question must be addressed.

Accept other examples where candidates put forward links and explains the importance.






Band | Marks AO3 2a Marks AO4 2c

Excellent analysis of the Applies a thorough knowledge
importance of fabric type and and understanding of design
scale of production when and make principles in the
selecting an appropriate fabric. context of fabric selection.
A thorough discussion which 3
deconstructs information and

3 5-6 | demonstrates logical reasoning
throughout. Well-considered,
relevant wider issues used as a
context for the discussion
There is a sustained line of reasoning which is coherent, relevant,
substantiated and logically structured.
Good analysis of the Applies a generally sound
importance of fabric type and knowledge and understanding
scale of production when of design and make principles in
selecting an appropriate fabric. the context of the fabric
A generally sound discussion selection.
which deconstructs information 2

2 3-4 | and demonstrates logical
reasoning throughout.
Generally well-considered,
relevant issues used as a
context for the discussion.
There is a line of reasoning which is generally coherent, mainly relevant
and with some evidence and structure.
Limited analysis of the Applies a basic knowledge and
importance of importance of understanding of design and
fabric type and scale of make principles in the context of
production when selecting an 1 the fabric selection.

1 1-2 | appropriate fabric.
Little evidence of logical
reasoning. General discussion
is limited.
There is limited evidence of relevant examples or structure.

0 No response or work that is worthy of a mark
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Sticky Note

Q8 = 3 Marks (Max Mark 9)
This question is about fabrics in general – fibre source and inherent properties, fabric construction, finishes and how all can affect end use.  Scale of production is closely linked to the product type and end use.  The second paragraph is credited with one mark for properties of cotton.  Two marks were awarded for the second paragraph for points related to one off production and batch.  As this is an AO3 style question the best fit on the banded mark scheme is band 1, 3 marks – limited analysis / basic knowledge.
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Sticky Note

Q8 = 6 Marks (Max Mark 9)
There is some understanding related to fabric choice and end uses.  Products are referenced to further clarify the explanation.  Most of the facts in the first part of the response refer to the properties of fabrics.  There is no reference to construction or applied finishes.  There is some understanding of fabric cost, scale of production and end use.  There is some evidence of analysis so the best fit for this response is band 2, 6 marks – a good analysis / sound knowledge.
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Sticky Note

Q8 = 9 Marks (Max Mark 9)
An excellent analysis that includes reference to scale of production, fabric type and product end use.  There is a sustained line of reasoning and the response is logically structured.  The best fit for this response is band 3, 9 marks – excellent analysis / thorough knowledge.










8. The success of a new product depends on the careful selection of appropriate fabrics.

Analyse how fabric type and scale of manufacture influence the choices a designer makes
when selecting fabrics for a new product. [9]
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Question 9

Intellectual property allows designers to protect their work.

Explain how the use of a design right differs from the use of a trademark when applied to
fashion and textile products.

Q9 AQO3 AO4

Total

2a | 2b | 1a | 1b | 1c | 2b | 2¢c

Science
Maths

5 4

©

Candidates should demonstrate knowledge, and apply knowledge and understanding to
technical principles, and application of design and make principles to be awarded up to
9 marks.

Discussion should be based on the following points:

Design Right

¢ Design Rights relate to the physical appearance of a product or item or part of it for
example both a striking new design for a jacket and a unique pocket detail on a plain
jacket may be registered as a design or attract design protection.

e It can apply to industrial as well as handcraft products.

e This IP right is not concerned with how a product functions but focuses on its
appearance and in particular the features of the product or the way it looks.

e Contributory features include: lines; contours; colours; shape; texture; material.

e UK design rights prevents others from copying your design. It only covers the 3D aspect
of an item and does not protect the surface decoration of the product or any 2D pattern
such as wall paper or carpet design.

e To qualify your design must be NEW, something not previously made public. For
example a polo shirt would be commonplace whereas a design created from scratch
such as a new shape of sleeve very different to other sleeves previously designed by
other designers, would not be commonplace and therefore a design right could be
applied for.

¢ Design right in the fashion industry can protect the structure, look or design of core
products such as clothing, footwear, handbag and accessory designs. It also has a
wider relevance, covering new product areas that a designer might expand into in future
such as luggage or interior furnishings.

¢ UK unregistered design right does not give a monopoly over all uses of the design in
guestion but it gives the owner the right to prevent third parties from copying the design
for commercial purposes.

Trademark

e Trademark protection refers to safeguarding intellectual property rights to protect a
trademark from counterfeiting and infringement.

e Atrademark is a sign that distinguishes your goods or brand from those of other traders.
A sign can include words, logos, pictures or a combination of these.

e The owner of a distinctive mark can apply to receive trademark protection.

e Trademark protection also requires you to continually use the mark in commerce.

e The (TM) symbol has no legal meaning. You can use the symbol on any mark that your
company uses without registering it. The most common use of the TM symbol is on a
new phrase, logo, word, or design that a company plans to register.

e Trademarks can be used as a marketing tool so your goods are recognised. This can be
an asset.

e To be registerable, a trademark should be distinctive for your goods and services and
not the same as any earlier mark.






e No one can use a registered trademark without the permission of the owner. It is an
offence to do so.
You can oppose a new trademark if it is too similar to one you have already registered.

o Avregistered trade mark often shows the ® symbol; this makes it more straight forward
to take legal action against counterfeiters.

e Trademarks need to renewed and paid for every 10 years.

Credit any other appropriate response.

Band Marks AO4 1b and 1c Marks AO4 2b and 2¢
Demonstrates and applies a Demonstrates and applies a
thorough knowledge and thorough knowledge and
understanding of technical understanding of design and
principles in the context of 3.4 make principles in the context
design rights and of design rights and

3 4-5 trademarks. Well considered, trademarks drawing on well-
relevant wider issues considered, relevant
identified. examples.

There is a sustained line of reasoning which is coherent, relevant,
substantiated and logically structured.

Demonstrates and applies a Demonstrates and applies a
generally sound knowledge generally sound knowledge
and understanding of and understanding of design
technical principles in the 5 and make principles in the
context of design rights and context of design rights and

2 2-3 trademarks. Generally well- trademarks Generally well-
considered, relevant issues considered examples are
identified. provided.

There is a line of reasoning which is generally coherent, mainly relevant
and with some evidence and structure.

Demonstrates and applies a Demonstrates and applies a
basic knowledge and basic knowledge and
understanding of technical understanding of technical
principles in the context of 1 principles in the context of

1 1 design rights and design rights and trademarks.
trademarks. Some relevant Few examples are provided.

issues identified and used to
support the discussion.

There is limited evidence of relevant examples or structure.

0 No response or work that is worthy of a mark.











There ouwe fLuo B ,
Se et C“CJW ot Wirgpn |
Mg oL .[.?)--W«-@t‘ a De_suar. nghl
aadl  Groole Mautls, yet & O('%cw .
Voele o ux.byj gy  @ateot X :

OLLY\.Q’)\M.

’Fuﬁ\@ ole,stsg—nn.gjﬂo mcgtomw
" Mo AL Caer W‘ﬁ tte POl

Wagee Qg Dot Canr lde tO

QU respucting Une Proctee e £

Sty g | YUoe poe Lo Ufue Txa

—






o~ B et a4 Svangrle . BP

DePL?'v; P M{DM% ..
Q,Puwf (ST Coreat EXaty
A o) MW
%Wmmw o el
M-w-.e_l/nmj SRQas , el re , fuoA




Sticky Note

Q9 = 3 Marks (Max Mark 9)
The focus of the question is how trademarks and design rights protect textile products and the differences.  It is not about the length of time the product is covered for although some credit has been given for this.  There is very limited understanding of either.  The best fit is band 2, 3 marks.
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Sticky Note

Q9 = 6 Marks (Max Mark 9)
There is some understanding of both design rights and trademarks including how they are applied to products.  Well considered examples have also been included.  There is a sound discussion with all points fully explained.  The mark awarded sits between band 2 and 3.
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Sticky Note

Q9 = 9 Marks (Max Mark 9)
The difference between a design right and a trademark is very clearly explained.  The response is supported with appropriate examples.  A number of fully explained points have been offered.  The response is also logically structured.  The best fit is band 3, 9 marks.










9. Intellectual property allows designers to protect their work.

Explain how the use of a design right differs from the use of a trademark when applied to
fashion and textile products. [9]










Question 1

a)

brushed cotten adds texture and blukiness to the garment making it softer.

brushing the cotten makes it less ridged and allows for movement in the sleep

burshed cotten will crearte air gaps in the fabric making it trap air keeping the child

warm throughout the night.

it will also make the garment more resistant to ripping due to abrasion.

b)

the interfacing creates a more ridged colar for athetic reasons

interfacing aslo allows for a softer material to go in the inside to cover seemes

creating more comfort in the garment and not scratching the child.

it can also add warmth as air can get trapped between the two layers keeping the

kid warm.





piping is used to finish the edges as it will weigh down the collar to keep it looking

athetically pleasing with out beeing too bulky that it was case uncomfort to the child

the height of the collar may also help keep the back of the childs neck warm when

wondering around in them helping stop them getting a cold.
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Question 1
A brushed cotton material has been used to make the child’s pyjamas shown below.

(@)

Explain how a brushed cotton material improves the functionality of the child’s
pyjamas.

(b) Piping and interfacing have been used in the construction of the pyjama collar.
Explain the function of both in the construction of the collar.

Q1 AO3 AO4
& T
c| 2 o
SR 2a [2b|(la|1b|1c |2a|2b | +
0| =

(@) v 2 | 2 4

Candidates should demonstrate knowledge and understanding of technical principles and
awarded up to 4 marks.

No

response or an inappropriate response — 0 marks

Responses should be based on:

During the process of brushing, material is passed over wire brushes [1] which gently
tease the fibres leaving a fluffier surface [1].

During wear, warm air from the body is trapped within the raised fluffy fibres [1] — in the
air pockets created during the process of brushing [1]. If warm air cannot escape it
forms an insulative barrier within the brushed fibres [1] which will keep the wearer warm
which is the function of the pyjamas [1]. Brushed cotton fabric is therefore warmer than
plain cotton [1]. It is also more comfortable to wear [1] as it is softer against the skin [1].

Credit any other appropriate response.

(b)

2 | 2 4

Candidates should demonstrate understanding of technical principles and apply it to specific
appropriate points and awarded up to 4 marks.

No

response or an inappropriate response — 0 marks

Responses should be based on:

Piping reinforces the edge of fabric improving the collar’s structural integrity [1]. A cord
trim is inserted into the edge seam of the collar [1] which helps maintain the smooth
curved edge of the collar [1].

Interfacing is applied to one layer of the collar fabric - the underside. [1] This stabilises
the fabric [1] helping to maintain/keep the shape of the collar piece. [1]

Credit any other appropriate descriptive response.











Question 1

a)

brushed cotten adds texture and blukiness to the garment making it softer.

brushing the cotten makes it less ridged and allows for movement in the sleep

burshed cotten will crearte air gaps in the fabric making it trap air keeping the child

warm throughout the night.

it will also make the garment more resistant to ripping due to abrasion.

b)

the interfacing creates a more ridged colar for athetic reasons

interfacing aslo allows for a softer material to go in the inside to cover seemes

creating more comfort in the garment and not scratching the child.

it can also add warmth as air can get trapped between the two layers keeping the

kid warm.



Sticky Note

Q1a = 2 Marks (Max Mark 4)
Explain requires a fact and an elaboration of that fact not a list of different facts as in this response.  Marks were awarded for reference to warm and brushed cotton being softer.  Neither point is fully explained.





piping is used to finish the edges as it will weigh down the collar to keep it looking

athetically pleasing with out beeing too bulky that it was case uncomfort to the child

the height of the collar may also help keep the back of the childs neck warm when

wondering around in them helping stop them getting a cold.



Sticky Note

Q1b = 1 Mark (Max Mark 4)
The first point has been awarded a mark as there is some understanding but it has not been fully explained.  Response to piping is incorrect.
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Sticky Note

Q1a = 4 Marks (Max Mark 4)
The functionality of brushed cotton has been fully explained – a good level of understanding.  Reference to wicking away moisture is incorrect but there is sufficient depth in the rest of the response.



Sticky Note

Q1b = 2 Marks (Max Mark 4)
Use of piping has been fully explained providing structure and for aesthetic reasons.  Reference to interfacing is incorrect.  Neither piping nor interfacing is used to hide raw edges, a plain seam will achieve that too so reference to this is incorrect.










\

\

H

=

Q- Covon 13 On noxucon ook Clere. Puaans
flexes Sulys OB CoODOn ONC Conalorioo\e O
Tacrefoxne DOWMans (o puyoeeos . Connfoct s e
for S\eepguwecx o% 3(.10»\(.\\\5\ NN - ONEOL NGNS | Caad)
wvno.xwxs (eval prevenss thne c_ym e Q\A\Q\\\\Vﬁ% LS
Ourn LS oAl on G t(ax deswaned cor Seepn. Conon
1S COMMOMOane OL LT % o ovant (Jeose mcow\v-\% Lx
" f‘oﬂ'h\joou\?wcsc_n\k OO WA NS \w\c\u> covuse

W EALGN CONON A5 0N 0 Mo tur® nhEnang ond\
DYeovnOvioNE mco.n\ncb WS Vg S Swtons
t.\oew“j TR SLant Lt Aoes Mot \eod 1O hScomnagor k. -
Covneon os o (ryove S SOt onone, \nowever, BrvEnIvg
v coMon TVNYANCES W% q\;.o.\..\s:),so twe

QR TENT 1S even SO LeT aodanst vt cvnds S,
A orusved CONTra 3 oA3c O POA  InSVNONTY
t‘ooow\% Yhe "ok \S deee S\e Cha\d  wutvyen On
COVA LA ey DAONLS . Sanocin (O S Wove \es S
T POIVeES 14 YYap weak Ownd b(u&h\ﬂa e
CONON ONOWE MMo(e & ot OaY \S ‘oe \ropoed
zncwcasw\S \“S.\A\ou\,o-(\j Propecxi S, Thias Gnonce S
tne Q\M\cuomx\\\s OF VNESE EU\OWAS oS xv\ej
ore Ccasiu foc Winver WEeA (hen:_c the \0ag
SeevesS and \on3 \(ouse\'s) 90 WOoX VYAl S O V\t"\j
Ouwve Cf Thnesy c\es\gr\-E

©.

o. P'\p\w(b. ref(e<s ko Thae uwvamae (oedic Osound
Ltne cé? Of Lwe CoNnow, Psp'\f\% S Sewin On \NO
imgrove Un@  Suewcturol  Strengun ond At ooy

of o~ oo mhen . The D\QVC\S raeans Lae Colave



Sticky Note

Q1a = 4 Marks (Max Mark 4)
The response is over long and reference to cotton in first fourteen lines is unnecessary when the question is about the ‘brushed’ finish applied to cotton.  Full credit is given in the latter part of the question which relates to the brushed finish.
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Sticky Note

Q1b = 4 Marks (Max Mark 4)
A good response which addresses both piping and interfacing; a little repetitive in part.










1. A brushed cotton material has been used to make the child’s pyjamas shown below.

(@) Explain how a brushed cotton material improves the functionality of the child’s pyjamas.
[4]

(b) Piping and interfacing have been used in the construction of the pyjama collar.

Explain the function of both in the construction of the collar. [4]










10) The use of darts is the adjust the size or the shape of a garment. this is done





by adding them by the waist, at the breast, or shoulders. Bespoke/ one off
production is a production that makes unique and tailored designs for an individual
that has to meeet consumer wants and neads, This a quite a expensive production
as there is only one manufacuter making the garment so it is time consuming. high
quality fabric Is usually bought so it is long lasting. The use of dart is important as it
is a quick and effiencety way of altering a dress or suit. it gives you the opportunity
to change the size of fit without needed to make a whole new garment, which is

then wasting fabric and money.

Darts are also very discreet and can be easily hidden this is an advantage because if
youre paying a lot of money or something being made for you, you want it the best
quality possible you wouldnt want any frays, rough edgest unfinished seams to be

on show.
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Question 10

In bespoke fashion design, shape and fit are critical features of a made-to-measure outfit
that is both stylish and comfortable to wear.

Evaluate the use of princess line seams and darts when used to shape and style a bespoke
tailored outfit or close-fitting evening wear.

(]
Q10 S| o AO3 AO4 =
o © IS
3 > 2a | 2b | 1la|{1b | 1c | 2b | 2c | +
6 6 12

Candidates should show knowledge and understanding of wider issues, with clear evidence
of appraisal and/or making judgements and apply this to technical principles to be awarded
up to 12 marks.

Responses should be based on:

e Princess line seams: shaped seams that give more of a flattering fit; these seams follow
the contours of the body; princess line seams can go from the shoulder, over the bust
line, into the waist and out over the hips towards the hemline. Variations exist but the
principles are the same.

e Darts: triangular pieces pinched and sewn out of fabric to create shape taking away
excess fabric to create a better fit; can be used on the bust line, hips and waistline in
clothing but can also be seen near elbows or knees; anywhere on the body that requires
a closer fit and shape.

¢ Clothing can be fitted to the body much better though these shaping techniques —
improvement in form and in turn this improves function.

e Both technigues take away excess fabric and add shape (form)

e Both techniques allow for a smoother more flattering silhouette (form)

e Both techniques allow for adjustments to be made to the exact size and shape of each
client to achieve that personalised fit.

Tailoring

¢ In skirts and trousers darts would be used to get a close fit around the waistline

e In afitted jacket different darts could be used: standard single point dart to shape the
bust; a double pointed dart could be used to shape the waistline (front and/or back
pieces).

e Darts can be moved (or using technical language ‘swung’) or multiple darts used to add
style detail anywhere on a garment provided they still add to the shape and form.

e Single point darts could also be used in the elbow area to get a better fit for the sleeve.

e Half princess line seams can also shape the front and back panels.

Close fitting eveningwear

e Princess line seams could run the length of a dress, front and back, giving a smooth
elongated but closely fitted silhouette.

e Boned evening corsets make use of princess line seams — boning follows the seams

e Princess line seams can be used front and back on evening skirts if a close fit is desired

e Single and double pointed darts could be used instead of princess line seams.

Note: Candidates do not have to discuss both outfits, discussion could be built around one
product as similar principles apply to both.

Accept other appropriate responses.






Band | Marks AO3 2b Marks AO4 1c

Excellent evaluation of the Applies a thorough knowledge
wider issues relating to the use and understanding of technical
of seams and darts to shape principles to the context of using
and fit bespoke clothing. A seams and darts to shape and
thorough discussion, which 5.6 fit bespoke clothing.
appraises and/or makes

3 5-6 | judgements about product
analysis. Well considered,
relevant wider issues used as
a context for the discussion.
There is a sustained line of reasoning which is coherent, relevant,
substantiated and logically structured.
Good evaluation of the wider Applies a generally sound
issues relating to the use of knowledge and understanding
seams and darts to shape and of technical principles in the
fit bespoke clothing. A context of using seams and
generally sound discussion, darts to shape and fit bespoke
which appraises and/or makes 3-4 | clothing.

2 3-4 | judgements about product
analysis. Generally well-
considered, relevant issues
used as a context for the
discussion.
There is a line of reasoning which is generally coherent, mainly relevant
and with some evidence and structure.
Limited evaluation of the wider Applies a basic knowledge and
issues relating to the use of understanding of technical
seams and darts to shape and principles in the context of using
fit bespoke clothing. Little 1.0 | Seams and darts to shape and

1 1-2 evidence of appraising or fit bespoke clothing.
making judgements about
product analysis. Few issues
are identified.
There is limited evidence of relevant examples or structure.

0 No response or work that is worthy of a mark











10) The use of darts is the adjust the size or the shape of a garment. this is done





by adding them by the waist, at the breast, or shoulders. Bespoke/ one off
production is a production that makes unique and tailored designs for an individual
that has to meeet consumer wants and neads, This a quite a expensive production
as there is only one manufacuter making the garment so it is time consuming. high
quality fabric Is usually bought so it is long lasting. The use of dart is important as it
is a quick and effiencety way of altering a dress or suit. it gives you the opportunity
to change the size of fit without needed to make a whole new garment, which is

then wasting fabric and money.

Darts are also very discreet and can be easily hidden this is an advantage because if
youre paying a lot of money or something being made for you, you want it the best
quality possible you wouldnt want any frays, rough edgest unfinished seams to be

on show.



Sticky Note

Q10 = 4 Marks (Max Mark 12)
There is some understanding of the purpose of a dart in the response that was worthy of credit.  Some of the information relating to expensive production is incorrect.  Princess line seams are not referenced.  This is also an AO3 style question but there is limited evidence of appraisal.  The best fit in the banded mark scheme is band 1, 4 marks.
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Sticky Note

Q10 = 8 Marks (Max Mark 12)
The first part of the response that refers to the use of darts is where most of the marks have been awarded.  The candidate understands their use and has supported the response with appropriate examples.  There is some evidence of appraisal.  There is very limited reference to princess line seams.  Some of the points made are irrelevant to the question.  The best fit in the banded mark scheme is band 2, 8 marks.










10. In bespoke fashion design, shape and fit are critical features of a made-to-measure outfit that
is both stylish and comfortable to wear.

Evaluate the use of princess line seams and darts when used to shape and style a bespoke
tailored outfit or close-fitting evening wear. [12]
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Question 2

The fashionable top pictured below features a bell sleeve. The lower part of the sleeve or

‘bell’ is cut from a circular piece of fabric.

(@) Using notes and sketches, explain how you would attach the bell section to the rest
of the sleeve.

(b) The designer wishes to add a narrow lace edge to the lower edge of the bell
sleeves. Calculate the length of trim needed for the top, using the measurements
listed below:

e The depth of the ‘bell’ section is 24cm.

o The width of the hem of the upper section is 34cm.
Do not include seam allowances

You must show all your workings.

Round your calculations to a whole number.

() The fashionable top has been made from a polyester cotton blend. Explain the
advantages of using this blended fabric for the top.

Q2 AQO3 AO4

Total

2a | 2b | 1la | 1b | 1c | 2a | 2b

Science
Maths

D

(@) 2 2

Candidates should demonstrate understanding of technical principles and design and make
principles and awarded up to 4 marks.

No response or an inappropriate response — 0 marks

Responses should be based on:

e Recognition that the ‘bell’ section of the sleeve is based on a large circular piece with an
inner smaller circular piece [1] where it will be attached to the rest of the sleeve [1]

o The upper sleeve piece needs the underarm sleeve seam joined first. [1]

e With right sides together, the inner circle of the ‘bell’ section is placed in line with the
lower edge of the upper sleeve [1] then stitched together [1]. (Candidates might refer to
use of an overlocker or straight stitch)

e The diagrams should show that the bell section is inverted over the upper sleeve [1]
then it will fall down into the right position concealing the seam. [1]

Assess the work as a whole and credit both diagrams and notes to explain the concept.
Apply a best fit when awarding marks.

Credit other appropriate responses.






Q2 8| AO3 AO4 I
g = =
A s 2a|2b|1a|1b|1c|2a|20| "™
(b) 7 7 7

Candidates should demonstrate knowledge and understanding and apply it to technical
principles and awarded up to 7 marks.

No

response or an inappropriate response — 0 marks

Responses should be based on:

Recognition that the lower edge of the upper sleeve is the same measurement as the
circumference of the inner circle of the ‘bell’ section — 34 cm. [1]

nd = circumference d = circumference divided by r [1]

d=10.82 (11 cm) [1]

radius = 5.5cm [1]

(radius of inner circle+length of bell sleeve) 5.5cm + 24 = 29.5cm [1]

(The bell section is circular — given in question stem)

Circumference of lower edge: m x 29.5cm = 92.68 = 92.68cm. [1]

2 sleeves 92.68 x 2 = 185cm; rounded up: 2m [1]

Accept other methods of calculation.

All calculations need to be shown for full marks.

(c) 3|1 4
Candidates should demonstrate knowledge and understanding and awarded up to 4 marks
based on:

No response or an inappropriate response — 0 marks

Responses should be based on:

Cre

Properties of cotton that make it suitable for a top include absorbency [1] and although it
is washable it dries slowly because it retains moisture [1] being absorbent, it will keep
the wearer cooler in hot weather [1].

Polyester is not cool to wear it is more insulative [1] therefore not suitable to wear in hot
weather [1].

Polyester is not absorbent, so after washing it dries quickly [1], therefore a
polyester/cotton blend dries more quickly than cotton fabric alone [1].

Cotton is more expensive than polyester [1] so a poly/cotton blend will be cheaper
overall than plain cotton thus reducing the cost of the top [1].

Polyester has a higher tensile strength making it a much stronger fibre than cotton [1],
so the blended fabric will withstand more wear and tear than cotton alone [1].

Cotton is prone to creasing but polyester is not, this makes caring for the top easier [1],
less ironing [1] and it will look better when wearing it [1].

A polyester/cotton blend will give all-day comfort being absorbent, lightweight with a soft
handle [1].

Cotton is prone to shrinkage but polyester is not [1], the blend reduces the possibility of
the top loosing shape after washing [1].

dit any other appropriate response.
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Sticky Note

Q2a = 4 Marks (Max Mark 4)
A detailed response with a good level of understanding of a suitable process.








Sticky Note

Q2b = 0 Mark (Max Mark 7)
The response is incorrect as it is not about surface area.  The length of the bell section is stated, as is the circumference of the smaller circle – the base of the upper sleeve.  From this it is possible to calculate the circumference of the lower sleeve edge – for two sleeves.
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Sticky Note

Q2c = 1 Mark (Max Mark 4)
There is limited understanding of the specific combined properties of cotton and polyester for use in the top.  Some credit was awarded to ‘multiple characteristics’.
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Sticky Note

Q2a = 4 Marks (Max Mark 4)
A detailed response with a good level of understanding of a suitable process.
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Sticky Note

Q2b = 2 Marks (Max Mark 7)
The final answer is incorrect.  The error was made in calculating the diameter or radius of the smaller circle but some credit was given for a correct initial method.








Sticky Note

Q2c = 4 Marks (Max Mark 4)
An over long response for 4 marks but the candidate has demonstrated a sound understanding of the advantages of using this blend.  Overall, a good explanation of important points.  At this level candidates should be able to select the most important points to comment on.
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Sticky Note

Q2a = 4 Marks (Max Mark 4)
A detailed response with a good level of understanding of a suitable process.
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Sticky Note

Q2b = 7 Marks (Max Mark 7)
Good technical knowledge.  A correct method worthy of full credit.



Sticky Note

Q2c = 4 Marks (Max Mark 4)
A detailed response which addresses the most important reasons for using a blended fabric for the summer top.  Fully explained.










2. The fashionable top pictured below features a bell sleeve.

The lower part of the sleeve or ‘bell’ is cut from a circular piece of fabric.

()

(b)

©

bell sleeve

Using notes and sketches, explain how you would attach the bell section to the rest of
the sleeve. [4]

The designer wishes to add a narrow lace edge to the lower edge of the bell sleeves.

Calculate the length of trim needed for the top, using the measurements listed below:

* The depth of the ‘bell’ section is 24 cm.

* The width of the hem of the upper section is 34 cm. [7]
Note: Do not include seam allowances.

You must show all your workings.

Round your calculations to a whole number.

The fashionable top has been made from a polyester cotton blend. Explain the
advantages of using this blended fabric for the top. [4]
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Question 3

a) the arm warmers should support thier needs as they are made from knitted tubes
of polyester and nylon the use of knitting creates breathability within the holes of
the loops that are looped to gether and therefore is the weather changes and starts

to get warmer there arms shouldnt get too hot and be able to breath.

however if they are caught out in rainy weather the tubes should help keep their
arms warm by potentially traping air. further more, polyester is made from plastic

therefore it is slightly water resistant and may help keep the cycleist slightly dry.

polyester and nylon also dont get damaged by the rain like materials such a silk and
therefore stay the same structure and are prone to ripping meaning in the rain and

w branches they are unlikely to rip.

nylon and polyester aslso have an easy after care of washing on a low temp which is
great as a cycles may get extreamly muddy on a bike ride and will be able ot wash

and dry them super easily and have them ready for the next days cycle.





polester and nylon are fairly cheap products and wouldnt cost the cyclest too muen.

b) the use of the silicone gripper should allow for comfort and practicallity as the
cyclist needs both hands on the handel bars if the sleeve started to fall down it
would be very incovenient to have to keep stopping to re fix and sort out the sleeves
as they dont want to focus on anything other than there cycling tequniqe. it could
also become quite dangerious if it fell down to the hands and restricted movement
towards the breaks e.c.t. therefore the band on the bicept are a significantly
important function. materials such as polyester may help improve functionality as
they are fairly streachy allowing it so have the pressure added to it further sticking
them to the arms and returning to the origional shape when the pressure |s

revoved.

polyester and nylon also dont get damaged by the rain like materials such a silk and
therefore stay the same structure and arent prone to ripping meaning in the rain

and w branches they are unlikely to rip.
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Question 3

The arm warmers shown below, are used by cyclists who consider them a useful addition to

their all-weather cycling gear.

(@) Cyclists often encounter variable weather conditions whilst out on a cycle ride.
Explain how the arm warmers would support their needs whilst out cycling.

(b) Explain how the named materials and components support the product’s function.

(D)
Q3 S| o AO3 AO4 =
Q| © o
(% > 2a|2b|la|1b|1c|2a | 2b | +
(a) 4 4 4

Candidates should demonstrate knowledge of technical principles and awarded up to
4 marks.

No response or an inappropriate response — 0 marks

Responses should be based on:

¢ The arm warmers can easily be taken off or put on as and when needed [1]. They will
keep the cyclists arms warm when it is extremely cold [1] without the need to put on an
additional full layer of clothing [1]. They are small and lightweight enough to roll up and
store in a pocket or compact bag/case [1] more manageable than a full layer of
clothing [1]. They can also offer and extra layer of insultion under a jacket [1] useful as
a base layer when training [1].

Credit other appropriate responses.

(b) v 4 4

Candidates should demonstrate knowledge of design and make principles and awarded up
to 4 marks.

No response or an inappropriate response — 0 marks

Responses should be based on:

e Polyester and nylon are both strong fibres so will with stand a lot of wear if they are
removed and put back on frequently [1]. Both are lightweight fibres so comfortable to
wear [1] but being microfibres they wick away moisture (from perspiration) during
exertion - breathability [1], helping to regulate body temperature keeping the cyclists
cool and dry if it is not convenient to remove the arm warmers straight away.[1] Being
made from a tube of fabric will mean no seams so will be more comfortable and less
irritating to wear because they fit closely to the arm [1]. Polyester and nylon microfibre
also have some elasticity so will help with a closer fit [1].

e Silicone gripper on the inside of the arm warmer will keep the arm warmer in place on
the upper bicep when worn [1] as the silicone will ‘grip’ the skin to keep it in place [1]
and will prevent it from moving down the arm during activity [1].

Credit other appropriate responses.











(&) S -

v

3)These aumn Wakrmg oue ._?eoi_&ﬂ
Cha e@- sl e candl ok hedps

anot
;531119 Wonm Y\t Secze \.\J‘?.:Lt Q5 ha had
‘ﬁ’ ‘ - mW,SQW‘b(ﬁj el

e carpd v al e g () C.a,uaLf?;). %W =
a tueeot DKo nagy (5 (\?—Vf |
_ptacd 30 e Qg ad Secue 2d alyp

riroleoc od *’&Ma&%@n Wasesia,
unc (crecd-» The are Shaady Feps £ Bl
meuba.{ 10 re lealde QA@ S ak . g E

b. W LG W for Spot weod S RN SO
s be  SlRoctiaiia._, PO“{IQ’*W Y Sheng
L ‘ e PO el &




Sticky Note

Q3a = 1 Mark (Max Mark 4)
The first sentence is worthy of credit.  The rest of the response does not answer the question which is about the versatility of the product.  Part (b) is about materials.
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Sticky Note

Q3b = 2 Marks (Max Mark 4)
The question is specifically about the properties of ‘microfibres’ which are engineered and differ from the properties of nylon and polyester in more general terms therefore the question has not been answered correctly although some credit has been awarded.  The purpose of the gripper bands is not understood.










Question 3

a) the arm warmers should support thier needs as they are made from knitted tubes
of polyester and nylon the use of knitting creates breathability within the holes of
the loops that are looped to gether and therefore is the weather changes and starts

to get warmer there arms shouldnt get too hot and be able to breath.

however if they are caught out in rainy weather the tubes should help keep their
arms warm by potentially traping air. further more, polyester is made from plastic

therefore it is slightly water resistant and may help keep the cycleist slightly dry.

polyester and nylon also dont get damaged by the rain like materials such a silk and
therefore stay the same structure and are prone to ripping meaning in the rain and

w branches they are unlikely to rip.

nylon and polyester aslso have an easy after care of washing on a low temp which is
great as a cycles may get extreamly muddy on a bike ride and will be able ot wash

and dry them super easily and have them ready for the next days cycle.





polester and nylon are fairly cheap products and wouldnt cost the cyclest too muen.

b) the use of the silicone gripper should allow for comfort and practicallity as the
cyclist needs both hands on the handel bars if the sleeve started to fall down it
would be very incovenient to have to keep stopping to re fix and sort out the sleeves
as they dont want to focus on anything other than there cycling tequniqe. it could
also become quite dangerious if it fell down to the hands and restricted movement
towards the breaks e.c.t. therefore the band on the bicept are a significantly
important function. materials such as polyester may help improve functionality as
they are fairly streachy allowing it so have the pressure added to it further sticking
them to the arms and returning to the origional shape when the pressure |s

revoved.

polyester and nylon also dont get damaged by the rain like materials such a silk and
therefore stay the same structure and arent prone to ripping meaning in the rain

and w branches they are unlikely to rip.



Sticky Note

Q3a = 2 Marks (Max Mark 4)
The function of the arm warmers is not fully understood but some credit was given to the points made in the first paragraph about the materials as it was not repeated in part (b) which was set to test knowledge of materials and components.  Repetition in responses does not gain credit.



Sticky Note

Q3b = 4 Marks (Max Mark 4)
Use of the gripper bands is fully explained and there is some relevant information related to polyester and nylon although the specific properties of microfibres are not explained.  Some of the points are irrelevant.  Over long responses often gain good marks because candidates write everything they know.  At this level candidates should be more selective in their responses.
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Sticky Note

Q3a = 4 Marks (Max Mark 4)
A good response that addresses the main point of the question – the versatility of the product meeting cyclists needs.



Sticky Note

Q3b = 4 Marks (Max Mark 4)
Credit was given for reference to microfibres and the gripper bands – both explain how the material and component support the products function.










3. The arm warmers shown below, are used by cyclists who consider them a useful addition to
their all-weather cycling gear.

Product details:

*  Made from knitted tubes of
polyester or nylon microfibre.

*  Silicone gripper bands on the
inner bicep area.

(@) Cyclists often encounter variable weather conditions whilst out on a cycle ride. Explain
how the arm warmers would support their needs whilst out cycling. [4]

(b) Explain how the named materials and components support the product’s function. [4]
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Question 4

The designer dress shown below features laser cut details on the skirt and sleeves.

@) Each flower on the skirt is 11 cm in diameter and has been cut on a laser cutter
which has a cutting area of 700 mm by 500 mm.
Calculate how many flowers can be cut from a one-metre length of fabric that is
150 cm wide.
Note: Flowers can be placed side by side with minimal spacing between them.
Show all your workings

(b) The flowers are sewn side by side across the straight skirt which has a
circumference of 143 cm. There are 7 rows of flowers on the skirt.
Calculate the number of flowers needed for the skirt of the designer dress.
Show all your workings

(9] Justify the use of a laser cutter to create the flower details on the skirt and scalloped
edge on the sleeves of the designer dress.

()
Q4 8| o AO3 AO4 -
o © o
(y) > 2a | 2b | 1la|1b | 1c |2a | 2b | +
(@) 6 6 6

Candidates should demonstrate knowledge and understanding of technical principles and
and its application in this context to be awarded up to 6 marks.

No response or an inappropriate response — 0 marks
Responses should be based on:

Note: as measurements are given in both millimetres and centimetres candidates should
use a simple conversion to either/or measurement in the first instance.

e The metre length of fabric will need to be be cut into 4 equally sized pieces to fit into the
machine, so each piece would be (150 divided by 2) 75cm (750mm) by (100cm divided

by 2) 50cm (500mm), some would lay to waste [2]
e Across width of bed @ 70cm(700mm): 70 divided by 11 = 6.36: 6 whole flowers. [1]
e Depth of bed @50cm (500mm): 50 divided by 11 = 4.54: 4 whole flowers [1]
o 6 flowers across by x 4 flowers down = 24 flowers from one cut piece [1]
e For 4 equally sized pieces 24 x 4 = 96 flowers 1]

Accept other methods of calculation.






Q4 AO3 AO4

Total

2a | 2b | 1a

Science
Maths

(b) 2 2

N

Candidates should demonstrate knowledge and understanding of technical principles and
its application in this context to be awarded up to 2 marks.

No response or an inappropriate response — 0 marks

Responses should be based on:
e Circumference of the skirt — 143cm divided by 11cms for each flower = 13 flowers  [1]
e 7 rows of flowers in total: 13 x 7 = 91 flowers [1]

Accept other methods of calculation.
All calculations need to be shown for full marks.

(c) v 2 | 2 4

Candidates should demonstrate knowledge and understanding of technical principles to be
awarded up to 4 marks.

No response or an inappropriate response — 0 marks

Responses should be based on:

e The laser seals the edge of the fabric when cutting it [1] this prevents the edge from
fraying [1] allowing complex shapes to be cut accurately [1]. All the flower shapes and
scallops on the sleeve will be consistent in size and shape [1]. Alternative methods of
making the flowers and scalloped edges are possibe but are more complex [1] and
costly [1] and may not look as effective as laser cutting [1].

Credit any other appropriate response.
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Sticky Note

Q4a = 0 Mark (Max Mark 6)
The response is incorrect.  The method is incorrect.  Surface area is not needed.  This requires a straightforward calculation - how many flowers across the width of the bed and how many down.  The fabric would need to be cut into four in the first instance and some fabric would be laid to waste.  Not understood.



Sticky Note

Q4b = 0 Mark (Max Mark 2)
The response is incorrect.  13 flowers can be placed across 143cms of fabric times 7 rows down. 13 x 7 = 91 flowers.
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Sticky Note

Q4c = 4 Marks (Max Mark 4)
A detailed and full response that addresses all the most important facts related to using a laser cutter.  All points fully explained.
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Sticky Note

Q4a = 6 Marks ((Max Mark 6)
Full marks awarded for a response that clearly shows a correct method of calculation:  recognition that the laser cutter bed restricts the size of material which would need to be cut to fit and would therefore naturally waste some fabric.  A straightforward calculation of the quantity of flowers follows.



Sticky Note

Q4b = 0 Mark ((Max Mark 2)
The correct method would be to calculate how many flowers would fit across 143 cm width circumference of the skirt then times that by 7 rows.  The candidate has overcomplicated the method.
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Sticky Note

Q4c = 2 Marks (Max Mark 4)
The response does not justify the use of the laser cutter.  Reference to use of a die cutter is not a justification for using the laser cutter.  Other than precision and speed the use of the laser is not fully justified.  Responses could have referred to: sealing the edges of the fabric to prevent fraying; consistency in size and shape; other methods do not seal the edges and therefore would be too complex to finish therefore unsuitable.
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Sticky Note

Q4a = 6 Marks (Max Mark 6)
The method is correct although the fabric does not need to be cut into 6 pieces, the answer is still correct.



Sticky Note

Q4b = 2 Marks (Max Mark 2)
A correct answer.








Sticky Note

Q4c = 4 Marks (Max Mark 4)
A detailed and full response that addresses all the most important facts related to using a laser cutter.  All points fully explained.
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The designer dress shown below features laser cut details on the skirt and sleeves.
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Each flower on the skirt is 11 cm in diameter and has been cut on a laser cutter which
has a cutting area of 700 mm by 500 mm.

Calculate how many flowers can be cut from a one-metre length of fabric that is
150 cm wide. [6]

Note: Flowers can be placed side by side with minimal spacing between them.

Show all your workings.

The flowers are sewn side by side across the straight skirt which has a circumference of
143cm. There are 7 rows of flowers on the skirt.

Calculate the number of flowers needed for the skirt of the designer dress. [2]

Show all your workings.

Justify the use of a laser cutter to create the flower details on the skirt and scalloped
edge on the sleeves of the designer dress. [4]
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Sticky Note

Q10 = 12 Marks (Max Mark 12)
An excellent response that demonstrates a thorough understanding related to the use of both darts and princess line seams as used in clothing.  The response is supported with relevant examples.  The inclusion of a small diagram to help explain the purpose of a dart further supports the response.  There is clear evidence of appraisal which is logically structured.  The best fit in the banded mark scheme is band 3, 12 marks.











